
 

( Mega 5 ) 

U 4 , (  Form , Meaning and Function )         

A- From a , b and c choose the best answer : 

1 – Saudi Arabia is …………………………… Qatar .    

     a – bigger                                           b- bigger than                             c- big than 

2 – Football is ………………………… than basketball .    

     a – popular                                         b- more popular                           c- the most popular 

3 – This food is …………………………… than the food we had yesterday .    

     a – much better                                 b- much good                              c- good 

4 – Skiing is  ……………………………… snowboarding  . 

     a – as dangerous                                b- as dangerous as                       c- dangerous as 

5 –  The longer the telephone call, ……………………………… the telephone bill .     

     a – the big                                         b- bigger                                      c- the bigger 

6 – Riyadh is …………………………… city in Saudi Arabia . 

     a -  biggest                                       -b-  the biggest                             c-  the most big 

7 – This method is by far the  …………………………………………… . 

     a – complicated                          b- complicated least                              c- least complicated 

     B- Do as shown between brackets : 

  1 – Reading is ( interesting ) watching TV .                                        (   Compare  ) 

  ……………………………………………………………………………………………………………………………………………………………………… 

 

  2 – Sami is (   good  ) student in the class .                                                  (  Correct ) 

   ……………………………………………………………………………………………………………………………………………………………………… 

 

  3-   The higher you climb , the ( cold ) it gets  .                  (  Correct using“ Comparative “  

   ……………………………………………………………………………………………………………………………………………………………………… 


